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continuing case: Cory and Tisha DumonT 

Part 1: 

financial planning

1.
The Dumonts are in the early years of the accumulation of wealth stage of the financial life cycle. During this longest stage of the life cycle, the Dumonts will establish their lifestyle and build a foundation for the two later stages. This phase is characterized by: 

· Family formation.

· Goal setting.

· Home buying.

· Debt planning. 

· Savings accumulation (emergency fund, home down payment, children’s education fund, and retirement).

· Insurance planning (medical, disability, liability, property, life). 

· Estate planning. 

2.
Cory and Tisha’s short-term goals (less than one year) might include the following:

· Begin savings to accumulate an emergency fund.

· Continue savings for home down payment.

· Continue payments on debt and credit cards.

· Start saving for retirement.

· Review property, health, disability, life and liability insurance needs and purchase as needed.

· Write a will.


Cory and Tisha’s intermediate-term goals (1 to 10 years) might include the following:

· Accumulate emergency fund.

· Save for Chad’s and Haley’s college education.

· Continue saving for home down payment and purchase home.

· Pay off debt and credit cards.

· Replace autos.

· Continue saving for retirement.

· Review property, health, disability, life and liability insurance as their family situation changes.

· Review estate plans as family situation changes.


Cory and Tisha’s long-term goals (greater than 10 years) might include the following:

· Save for and pay for Chad’s and Haley’s college education.

· Save for and fund retirement plans to maintain current standard of living.

· Review property, health, disability, life and liability insurance needs as family situation changes.

· Review estate plans as family situation changes.

3.
See completed Worksheet 5, A Simplified Income Statement, on page 90. All lines are single entries from the case, except the following:
· Line A = $77,100 or $84,000 – $6,900 pre-tax deductions of $2,700 insurance and $1,900 and $2,300 401(k) contributions, respectively, for Cory and Tisha
· Line D = $13,200 (rent) + $3,600 (utilities) + $900 (cell phones) + $2,520 (furniture)

· Line G = $4,860 (auto payments) + $1,900 (transportation expense) + $695 (property tax)

· Line J
= $1,800 (auto) + $720 (life) + $200 (renters)

· Line K = $1,200 (charity) + $9,700 (day care) + $2,000 (miscellaneous) + $1,200 (credit cards) + $2,352 (student loan repayment)

4.
See completed Worksheet 3, Balance Sheet—Calculating Your Net Worth, on pages 91-92.

NOTE: Because no 401(k) retirement account balances are given, students may enter the annual contribution amounts. This is an opportunity to discuss (1) the lack of understanding of the plans as acknowledged by Cory and Tisha and the failure to determine the balance; (2) the change in market value of the accounts regardless of the amount of the annual contributions; and (3) the idea that although the account values should be entered, retirement assets should be protected for this long-term goal, not considered an asset to be accessed for other purposes barring a dire situation.
5.
a. To calculate the current ratio: 



Monetary Assets =
$4,400 = 3.39



Current Liabilities
$1,300


This ratio is greater than two, as recommended. In other words, the Dumonts’ available monetary assets are more than three times enough to pay off their short-term liabilities (i.e., credit card debt). It is important to track the trend of this ratio over time; it should be increasing, not decreasing. If the ratio is declining, efforts should be made (1) to increase savings to build monetary assets and/or (2) to pay off current liabilities more quickly to avoid increasing current liabilities.


Because the Dumonts have not provided details about other current bills (e.g., utilities, insurance premiums, or other bills to be paid), calculation of the current ratio may not be realistic. Current liabilities are defined as debts that must be paid off within the next year. With payments of only $100, it will take Cory and Tisha more than a year to repay the credit card bill. However, credit cards were designed for short-term borrowing with full repayment. For too many people, credit cards have become continual revolving, installment loans. In reality, the Dumonts should view their credit cards as a current liability, or debt to be repaid within the year.


b. To calculate the month's living expenses covered ratio:



 Monetary Assets 
= 
$4,400 = 
$4,400 = 0.90 months


Annual Living Expenditures/12 $58,397/12
$4,866


If all other sources of income stopped, the Dumonts have enough monetary assets to cover their living expenses for less than one month. The traditional rule of thumb is that a household should have liquid assets to cover 3 to 6 months of expenses. This rule ignores the potential earnings from alternative investments, or the availability of credit capacity. Consequently, some flexibility in the amount of emergency funds, such as 3 months or less, may be appropriate.


The Dumonts have no funds earmarked for emergencies. They do not have access to a home equity line and are carrying credit card balances. Cory and Tisha would be wise to decrease spending and to increase their savings. Some dollars should be designated for an emergency, whether relatively minor, such as auto repair, or major, such as the loss of employment. As a measure of their “cash on hand,” the month's living expenses covered ratio suggests that the Dumonts have little reserves to continue their lifestyle in the event of a loss of income.


c. To calculate the debt ratio:



Total Debt or Liabilities = 
$27,725 = 0.35 or 35%



 Total Assets

$78,300


Slightly over a third of the Dumonts’ assets are financed. In other words, they truly own approximately 65 percent of their total assets; the remainder will not be paid for until some future date. This ratio will likely increase as they use credit to buy a home and other assets to support their lifestyle. However, they should continue to track the trend of debt to asset accumulation, as the ratio should decline as the Dumonts age.


d. To calculate the long-term debt coverage ratio:



Total Income Available for Living Expenses = $62,100 = 5.68%



 Total Long-Term Debt Payments 

 $10,932


Long-term debt represents any amount that cannot easily be repaid in one year. The Dumonts are only paying $100 per month on their $1,300 credit card balances and $196 per month on Cory’s $8,200 student loan debt. These debts will not be repaid in one year. The car and furniture loans each run for another 36 and 30 months, respectively. All the Dumonts’ debts can be defined as long term. Payments for one year total $10,932. 


A ratio of less than 2.5 suggests the need for caution, but the Dumonts’ ratio of 5.68 well exceeds this level. This ratio will likely decline as they use credit to buy a home and other assets to support their lifestyle. The inverse of this ratio suggests that 17.6 percent of the Dumonts’ income available for living expenses is committed to debt repayment.


e. To calculate the savings ratio:



Income Available for Savings & Investment = $3,703 = 0.060 or .06%



Total Income Available for Living Expenses $62,100 

Less than 1 percent of the Dumonts’ after-tax income is currently saved. This percentage is very low, particularly for a young family trying to save for a house down payment. The trend should be tracked over time to insure that it is increasing. Certainly, Cory and Tisha are saving little of their after-tax income—even less than Tisha estimated.

6.
The ratios suggest that Cory and Tisha are in relatively good financial health for a young family. They have limited credit use to maintain financial flexibility. In other words, a large percentage of their budget is not committed to pay off debt. Liquidity, as measured through the availability of monetary assets to meet current liabilities and living expenses is less than adequate. To improve their financial health, they should review their spending habits and make necessary adjustments to accomplish the following:

 Continue to repay their debt without taking on more debt obligations until after they have purchased their home.

 Increase their savings for an emergency fund, the house down payment, and other financial goals, such as educating the children.

7.
Tisha and Cory have $2,500 in savings, but have not acknowledged those funds for an emergency. The traditional rule of thumb is that a household should have 3 to 6 months of expenses, or for the Dumonts between $14,599 and $29,196 based on monthly expenses of ($58,397/12). This rule ignores the potential earnings from alternative investments, as liquid accounts offer little return. Home equity credit lines or other available credit lines also can substitute for some emergency needs, or supplement emergency funds. This frees more dollars for other, less liquid investments with higher returns. However, since the Dumonts do not have access to a home equity line and they are carrying credit card balances, they need to increase their savings. An emergency fund of 3 months or less, in combination with available credit and adequate insurance protection should be sufficient. The stability of employment, the regularity of income (e.g., regular salary versus irregular commissions), and the fact that both are employed also should be considered. 

8.
Cory and Tisha would need to save $1,537 at the end of each year to accumulate $40,000 for Chad’s college expenses, assuming a 9 percent return. Without scholarships, their annual savings will need to increase to $3,843 to fund Chad’s total education expenses of $100,000. Use the factors from Appendix C as shown below.

FV = PMT(FVIFAi,n)

$40,000 = PMT(FVIFA9,14)

$40,000 = PMT(26.019)

$40,000/26.019 = PMT

$1,537.34 = PMT

FV = PMT(FVIFAi,n)

$100,000 = PMT(FVIFA9,14)

$100,000 = PMT(26.019)

$100,000/26.019 = PMT

$3,843.35 = PMT

	Factor Table C solution
	Calculator solution

	PV
	n/a
	PV
	$0

	PMT
	$1,537.34
	PMT
	-?

	(FVIFA9%, 14)
	26.019
	I/Y
	9%

	
	
	N
	14

	FV
	$40,000
	FV
	$40,000

	
	
	CPT PMT
	-$1537.33


	Factor Table C solution
	Calculator solution

	PV
	n/a
	PV
	$0

	PMT
	$1,537.34
	PMT
	-?

	(FVIFA9%, 14)
	26.019
	I/Y
	9%

	
	
	N
	14

	FV
	$100,000
	FV
	$100,000

	
	
	CPT PMT
	-$3,843.35


9.
Cory and Tisha would need to save $1,111.94 at the beginning of each year to accumulate $40,000 for Haley’s college expenses. Without scholarships and assuming a cost of $110,000, their annual beginning of year contribution would need to increase to $3,057.83. 

	Calculator Solution
	Calculator solution

	PV
	$0
	PV
	$0

	PMT
	-?
	PMT
	-?

	I/Y

N
	9%

14
	I/Y
	9%

	
	
	N
	16

	FV
	$40,000
	FV
	$110,000

	CPT PMT
	-$1,111.94
	CPT PMT
	-$3,843.35



NOTE: Faculty may need to remind students to change their calculator mode from “end” to “beginning” to solve the first part of this problem, and then back again to “end” to solve for the end of year payments, or savings. 


If using a calculator, the end of year savings contribution would be $3,332.99. If using the factor from Appendix C, as shown below, the end of year savings contribution would be $3,333.03 to yield $110,000 for Haley’s education.

FV = PMT(FVIFAi,n)

$110,000 = PMT(FVIFA9,16)

$110,000 = PMT(33.003)

$110,000 / 33.003 = PMT

$3,333.03 = PMT

	Factor Table C solution
	Calculator solution

	PV
	n/a
	PV
	$0

	PMT
	$3,333.03
	PMT
	-?

	(FVIFA9%, 16)
	33.003
	I/Y
	9%

	
	
	N
	16

	FV
	$100,000
	FV
	$100,000

	
	
	CPT PMT
	-$3,332.99


10.
With a 7 percent after-tax return, the Great Basin Balanced Mutual Fund would be worth $5,931.70 in 14 years when Chad enters college and $6,789.60 when Haley turns 18. Using the calculator, it would be worth $55,783.82 in 37 years when Tisha retires at age 67 assuming the higher 9 percent after-tax return. The first two calculations, using the factors from Appendix A, are shown below as well as the corresponding answers if a calculator is used. Results using the calculator, for the FV in 37 years, are shown in the box below.

FV = PV(FVIFi,n)

FV = $2,300(FVIF 7,14)

FV = $2,300(2.579)

FV = $5,931.70 or $5,930.63 if using the calculator

FV = PV(FVIFi,n)

FV = $2,300(FVIF 7,16)

FV = $2,300(2.952)

FV = $6,789.60 or $6,789.98 if using the calculator

	Calculator solution for Tisha’s Retirement Age of 67

	PV
	-$2,300

	PMT
	$0

	I/Y
	9%

	N
	37

	FV
	?

	CPT FV
	$55,783.82



The Great Basin Balanced Mutual Fund has yielded an annualized rate of return of 10.8 percent, ignoring any income return, which according to Tisha has been negligible and in some years nothing.


annualized 
= (ending value – beginning value) + income return x 1 / N



rate of return


 beginning value


annualized 
= ($2,300 – $1,000) + 0 x 
 1/12


rate of return
 
 $1,000


annualized 
= 1.3 x 0.0833 = 0.1083 or 10.8%


rate of return

11.
At the current rate of 6 percent, the $13,000 fund would be worth $15,483 in 3 years, $17,394 in 5 years, and $19,552 in 7 years. At 8 percent, the fund would be worth $16,380, $19,097, and $22,282 in 3, 5, and 7 years, respectively. Use the factors from Appendix A as shown, or a financial calculator, which will yield slightly different answers.

	Assuming a 6 percent return
	Assuming an 8 percent return



	FV = PV(FVIFi,n)
	FV = PV(FVIFi,n)

	FV = $13,000(FVIF 6,3)
	FV = $13,000(FVIF 8,3)

	FV = $13,000(1.191)
	FV = $13,000(1.260)

	FV = $15,483 or $15, 483.21
	FV = $16,380 or $16,376.26

	
	

	FV = PV(FVIFi,n)
	FV = PV(FVIFi,n)

	FV = $13,000(FVIF6,5)
	FV = $13,000(FVIF 8,5)

	FV = $13,000(1.338)
	FV = $13,000(1.469)

	FV = $17,394 or $17,396.93
	FV = $19,097 or $19,101.26

	
	

	FV = PV(FVIFi,n)
	FV = PV(FVIFi,n)



	FV = $13,000(FVIF 6,7)
	FV = $13,000(FVIF 8,7)

	FV = $13,000(1.504)

	FV = $13,000(1.714)

	FV = $19,552 or $19,547.19
	FV = $22,282 or $22,279.72

	
	


12.
With earnings of $1,040 on their market index fund, the estimated tax payment for tax year 2011 would be $52, or 5 percent. After taxes, their account will have grown by only $988. Use the factor from Appendix A as shown below. The financial calculator yields the same answer.

FV = PV(FVIFi,n)





FV = $13,000(FVIF 8,1)

FV = $13,000(1.080)

FV = $14,040 

	Factor Table A solution
	Calculator solution

	PV
	$13,000
	PV
	-$13,000

	PMT
	n/a
	PMT
	$0

	(FVIF8%,1)
	1.080
	I/Y
	8%

	
	
	N
	1

	FV
	$14,040
	FV
	?

	
	
	CPT FV
	$14,040


Federal tax liability = $14,040 – $13,000 = $1,040 x 0.05 = $52

Assuming the earnings are all qualified dividends, there would be no taxes due since the Dumonts are in the 15 percent marginal tax bracket. 

13.
Use a calculator to determine the future value of Cory’s pension in 36 years with a 5 percent annual return. Leaving the account with the former company would give him a retirement nest egg of $14,480. If Cory could guarantee a 10 percent annual return by choosing his own investments, the $2,500 account would be worth $77,282 at retirement. As long as the funds remain in a tax-deferred account, no taxes will be due until the time of withdrawal.
	Calculator Solution
	Calculator Solution

	PV
	$2,500
	PV
	$2,500

	PMT
	NA
	PMT
	NA

	I/Y

N
	5%

36
	I/Y
	10%

	
	
	N
	36

	FV
	?
	FV
	?

	CPT FV
	-$14,479.54
	CPT FV
	-$77,281.70


14.

$77,100.00
Gross Income for 2011


 –
$652.00 
Adjustments to Income for the Student Loan Interest Paid



$76,448.00
Adjusted Gross Income (AGI)


 –
$11,600.00
Standard Deduction 


 –
$14,800.00 
Personal Exemptions (4 x $3,700 for 2011)



$50,048.00
Taxable Income

a.
The Dumonts should not itemize deductions, as the standard deduction amount exceeds their total itemized deductions. Their only possible itemized deductions include state income taxes, property taxes, and charitable donations. Home ownership, with itemized deductions for home mortgage interest and real estate taxes, should allow the Dumonts to exceed their standard deduction.

b.
The adjustment for student loan interest paid can be claimed whether or not the taxpayer itemizes deductions, another benefit for taxpayers like the Dumonts. Unless the Dumonts have significant salary increases. they should be eligible to claim up to the maximum $2,500 of interest payments for future years, including any voluntary payments of interest. The adjustment effectively reduces the Dumonts’ income taxes by $97.80 as shown below. 

Federal tax savings from student loan interest adjustment = $652 x 0.15 = $97.80 

NOTE: Couples with a modified AGI between $120,000 and $150,000 are eligible for only a partial deduction in 2011.

c.
Cory will have a total of $2,907 deducted from his salary for FICA. He will pay $2,356 (0.0620 x $38,000) for Social Security and $551 (0.0145 x $38,000) for Medicare. Tisha will pay $2,852 (0.0620 x $46,000) for Social Security and $667 (0.0145 x $46,000) for Medicare, or a total of $3,519 for FICA. Together, the Dumonts will pay a total of $6,426 for FICA.

d.
Based on 2011 tax rates, the Dumonts’ federal tax liability on $52,148.00 of taxable income is $7,039.70, based on the following calculation.

Tax liability in 10% tax bracket = $17,000 x 0.10 
= $1,700.00

Tax liability in 15% tax bracket = $33,048 x 0.15 
= $4,957.20

TOTAL






= $6,657.20

e.
Because the children are under age 17, Cory and Tisha are eligible for the $1,000 tax credit for each child. In addition to the income taxes deducted and submitted by their employers during the year, any applicable credits will be subtracted from the Dumonts’ tax liability to determine if they are due a refund or must pay additional taxes. 

15.
The Dumonts’ state tax liability would equal $2,877.76, or 0.0575 x $50,048.00 for 2011.

16.

Tisha estimated their tax liability as $15,000 annually. Their actual projected 2011 taxes totaled $13,961 ($2,878 state tax liability; $4,657 federal tax liability (after the credits); $6,426 FICA tax liability), for a difference of $1,039. Their lower actual projected tax liability adds to their available income. This money can be saved toward their various financial goals. They could adjust W4 withholdings and increase monthly cash flow by approximately $90.

17.
The marginal tax rate represents the percentage of taxes paid on the last dollar earned. For the Dumonts this is 15 percent in 2011. Extending this concept to the effective marginal tax rate combines the marginal rates for all taxes paid on income (assuming state and city marginal tax rates are applicable), as illustrated below.


Effective marginal tax rate = 

Federal marginal rate + state marginal rate + city marginal rate + Social Security tax rate


Using this formula, the Dumonts’ effective marginal tax rate would be 28.4 percent (15.00 + 5.75 + 0.00 + 7.65). 


Both the marginal and effective marginal tax rates assume the worst case tax scenario, as both ignore the progressive nature of the income tax system and consider only the tax rate on the last dollars earned. This is necessary to provide a constant and reliable measure for tax planning purposes. The average tax rate assesses the federal taxes paid as a percentage of gross income, or for the Dumonts in 2011, 7.93 percent based on $6,657.20/$84,000. 


Allowing for bracket creep, salary increases will push the Dumonts into higher marginal tax brackets. However, increased tax deductions available after they purchase a home as well as other tax planning strategies will allow the Dumonts to reduce their taxable income—the final determinant of their marginal tax bracket.
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WORKSHEET

Simplified Income Statement

A. Total Income A. $77,100

B. Total Income Taxes - B. $15,000

C. After-Tax Income Available for Living Expenditures

or Take-Home Pay (line A minus line B) = C. $62,100

D. Total Housing Expenditures D. $20,220

E. Total Food Expenditures + E. $6,200

F. Total Clothing and 

Personal Care Expenditures + F. $3,100

G. Total Transportation Expenditures + G. $7,455

H. Total Recreation Expenditures + H. $1,500

I. Total Medical Expenditures + I. $750

J. Total Insurance Expenditures + J. $2,720

K. Total Other Expenditures + K. $16,452

L. Total Living Expenditures (add lines D - K) = L. $58,397

M. Income Available for Savings and Investment

(line C minus line L) = M. $3,703

Your Take-Home Pay

Your Living Expenses
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WORKSHEET

 Balance Sheet - Calculating Your Net Worth

Assets Value

Monetary Assets

Cash $100

Checking + $1,800

Savings/CDs + $2,500

Money Market Funds +

Other Monetary Assets +

A. Total Monetary Assets A. = $4,400

Investments

Mutual Funds $15,300

Stocks +

Bonds +

Life Insurance (cash-value) + $1,800

Cash Value of Annuities +

Investment Real Estate (REITs, partnerships) +

Other investments +

B. Total Investments B. = $17,100

Retirement Plans

401(k) and 403(b)

Company Pension +

Keogh +

IRA +

Other Retirement Plans + $2,500

C. Total Retirement Plans C. = $2,500

Housing

Primary Residence

2nd Home +

Time-Shares/Condominiums +

Other Housing +

D. Total Housing (market value) D. = $0

Automobiles

Automobile 1 $14,800

Automobile 2 + $7,800

Other Automobiles +

E. Total Automobiles E. = $22,600

Personal Property

Collectibles $19,700

Boats +

Furniture + $12,000

Other Personal Property +

F. Total Personal Property F. = $31,700

Other Assets

Money Owed You

Market Value of Your Business +

Other +

G. Total Other Assets G. = $0

Total Assets

H. Total Assets (add lines A - G) H. = $78,300
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WORKSHEET

 Balance Sheet - Calculating Your Net Worth 

(continued)

Liabilities or Debts Value

Current Bills

I. Current Bills (unpaid balance) I. = $0

Credit Card Debt

Visa

Master Card +

Other Credit Cards + $1,300

J. Total Credit Card Debt J. = $1,300

Housing Loans

First Mortgage

2nd Home Mortgage +

Home Equity Loan +

Other Housing Debt +

K. Total Housing Loans K. = $0

Automobile Loans

Automobile 1 $12,925

Automobile 2 +

Other Automobile Loans +

L. Total Automobile Loans L. = $12,925

Other Debt

College Loans $8,200

Loans on Life Insurance Policies +

Bank Loans +

Installment Loans + $5,300

Other +

M. Total Other Debts M. = $13,500

Total Debt

N. Total Debt (add lines I - M) N. = $27,725

Net Worth

Total Assets

H. Total Assets H. + $78,300

Less: Total Debt

N. Less: Total Debt N. - $27,725

Equals: Net Worth

O. Equals: Net Worth O. = $50,575
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